THINK INTERNATIONAL EDUCATIONAL SERVICES LIMITED

Nov & Dec

# ENGLISH SMALL GLASS SIZE DEAYGROUP AGE: 9-32 MONTHS

FREE TRIAL

AVAILABLE

NOW!

FUN AND CREATIVE PLAYGROUP 117 Boundary Street, Kowloon Tong tel.: 2338 3949 email: kindergarten@tis.edu.hk www.tis.edu.hk



Attending playgroup is a stepping stone for a successful school life. Your child will meet new friends and develop new skills through listening to and singing musical rhymes, creating art, and engaging in language activities with our English teachers.

## LEARNING CONTENTS

AGE	LEARNING ACTIVITIES				
9–24 MONTHS	<ul> <li>Language (speaking and listening): theme-related words and phrases</li> <li>Concepts: size(big/small), length (long/short), similarities and difference speed and tempo (fast/slow), shapes (square, rectangle)</li> <li>Physical skills: palm grip or tripod grip, going up steps, squatting and getting</li> <li>Social skills: sharing, turn-taking, greetings</li> <li>Practical life: pouring and squeezing, dotting, tidying up, lining up</li> <li>Sensorial development: primary &amp; secondary colours, sense of touch</li> <li>Caregivers will also learn the skills to interact with their own childre effectively</li> </ul>				
24–32 MONTHS	<ul> <li>This playgroup session is carefully designed to offer students a range of enriching activities to enhance social skills, emotional and physical well-being self-confidence and the ability to problem solve.</li> <li>Language (speaking and listening): theme-related words and phrases, storytime to foster a love of reading</li> <li>Concepts: size sequence, density (float/sink), numbers (counting), pitch (high/low)</li> <li>Physical skills: making intentional strokes (pre-writing skill), music and movement</li> <li>Social skills: sharing, turn-taking, greetings, manners, relationship building and social interaction</li> <li>Practical life: using tools to transfer objects, painting, glueing and self-help skills</li> <li>Sensorial development: explore the world of colour, to help better understand the world around us, sense of touch</li> <li>Develop children's independence and prepare them for school</li> </ul>				

<sup>1.</sup> All fees paid are non-refundable. There are no make-up classes or refunds for absences.

<sup>2.</sup> Each child must be accompanied by one adult only.

<sup>3.</sup> When Tropical Cyclone Warning Signal No. 3 or above, or when Red or Black Rainstorm Warning Signal is hoisted, classes will be cancelled; and make-up classes will be scheduled on a later date.

<sup>4.</sup> If the Red or Black Rainstorm Warning Signal is issued while the playgroup is in session, children will continue their session until normal dismissal time.



### EARLY BIRD DISCOUNT - WITHIN 2 DAYS AFTER FREE TRIAL CLASS

CLASS #	AGE	DATE & TIME	FEE
CLIMBERS	9-15	NOVEMBER 2, 9, 16, 23, 30	
SATURDAY	MONTHS	DECEMBER 7, 14	HK\$210 /
( 9:00AM - 10:00AM )		( NO CLASS ON 21 DEC)	1HR LESSON
SPARKLERS	16-24	NOVEMBER 2, 9, 16, 23, 30	
SATURDAY	MONTHS	DECEMBER 7, 14	H K\$260 /
( 10:15AM-11:45AM )		( NO CLASS ON 21 DEC)	1.5HRS LESSON
CLIMBERS	9-15	Nov 7, 14, 21, 28	HK\$220 /
THURSDAY	MONTHS	DEC 5, 12	1HR LESSON
( 1:00PM - 2:00)		( NO CLASS ON 19 DEC)	
EXPLORERS	10-24	Nov 7, 14, 21, 28	HK\$200 <i>1</i>
THURSDAY	MONTHS	DEC 5, 12	1.5HRS LESSON
( 2:30pm - 4:00pm)		( NO CLASS ON 19 DEC)	
EXPLORERS – MW	10-24	NOVEMBER 4, 6, 11, 13, 18, 20, 25, 27	
MONDAY & WEDNESDAY	MONTHS	DECEMBER 2, 4, 9, 11, 16, 18	HK\$200 /
( 3:00Pm-4:30Pm)		( NO CLASS ON 19 DEC)	1.5HRS LESSON
STEPPERS - WF	24-33	NOVEMBER 6, 8, 13, 15, 20, 22, 27, 29	HK\$3507
WEDNESDAY & FRIDAY	MONTHS	DECEMBER 4, 6, 11, 13	2HRS LESSON
( 11:45 Pm-1:15Pm)		( NO CLASS ON 18, 20 DEC)	

Enrollment: Please complete the enrollment form and submit it with proof of payment online by email, in person or by post.

• Email: <u>kindergarten@tis.edu.hk</u>

• In person / by post: 117 Boundary Street, Kowloon Tong (Attn: School Office)

<u>Payment:</u>

Bank of East Asia / Saving Account: 18668001179 Account Name & Cheque Payment:

Think International School o/b Think International Educational Services Limited

## Think International Educational Services Limited Enrollment Form

Child's Name (in English):		(in Chinese):		
Gender: M / F Date of Bir	th (yyyy/mm/dd):/		Age:	
Residential Address:				
Parents / Guardian's Name	Relationship	with the child	l:	
Contact Number#I:	Contact Number#2: _			After Free
Email address:				After Free Trail Lesson
Please tick your choice:				I rall Lesson

#### Please tick your choice:

				-	
Class #	Age	Date & Time	Fee	Ø	<u>Early Bird</u> <u>Discount</u>
EXPLORERS- MW	10-24 months	Every Mon & Wed (3:00pm – 4:30pm) Nov 4, 6, 11,13, 18,20, 25,27 Dec 2,4, 9,11, 16,18 Total: 14 Lessons	HK\$220/lesson Total HK\$3,080		HK\$200/lesson Total HK\$2,800
STEPPERS- WF	24-33 months	Every Wed & Fri (11:45pm – 1:45pm) Nov 6,8,13,15,20,22,27,29 Dec 4,6,11,13 Total: 12 Lessons	HK\$390/lesson Total HK\$4,680		HK\$350/lesson Total HK\$4,200
CLIMBERS- TH	9-15 months	<u>Every Thurs</u> ( <u>1:00pm – 2:00)</u> Nov 7, 14,21,28 Dec 5,12 Total: 6 Lessons	HK\$220/lesson Total HK\$1,610		HK\$200/lesson Total HK\$1,470
EXPLORERS- TH	10-24 months	<u>Every Thurs</u> ( <u>2:30pm – 4:00pm)</u> Nov 7, 14,21,28 Dec 5,12 Total: 6 Lessons	HK\$220/lesson Total HK\$1,320		HK\$200/lesson Total HK\$1,200
CLIMBERS	9-15 months	<u>Every Sat</u> ( <u>9:00am – 10:00am)</u> Nov 2, 9,16,23,30 Dec 7,14 Total: 7 Lessons	HK\$230/lesson Total HK\$1,610		HK\$210/lesson Total HK\$1,470
SPARKLERS	16-24 months	Every Sat (10:15am – 11:45am) Nov 2, 9,16,23,30 Dec 7,14 Total: 7 Lessons	HK\$290/lesson Total HK\$2,030		HK\$260/lesson Total HK\$1,820

Parents / Guardian's Signature: \_\_\_\_\_

Date: \_\_\_\_\_

#### For school office use only

Date of Enrollment form:	Receipt No.:	Checker's Signature:
Remarks:		